520 Munsell System Y,,,=100

X=95,04,Y,=100,00Z,~108,89 B,

525
081 M,C=2, V=1,2,5,8 &9, D65 X=0,3127y,=0,3290 210
)51310 0 |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)i;a
A Bo = (bp ~bg) Y15 (Y/Y19)1/3
g = a0 [X1Y] 1
by = bao [2/4]
a50=1, byg= -0,4
( Ao
. . N
n = D65 -10 ' 10
Q 625 5
> 70
995¢,E 1
y CIE 1931 X Munsell System Yy,=100
0 C=2,Vv=1,2,5,8&9, D65 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
BE151-1A_1 BE151-2A 1
X,=95,04Y,,~100,00Z,~108,89 B, X=95,04,Y,=100,00Z,~108,89 B,
%y=0,3127y,,=0,3290 Lo Xw=0,3127y,,=0,3290 210
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ap0=1, byy=-0,4 850= 1, byg= -0,4 A
myp1=1,000,b3=0,171 ! / ot mp;=-0,169,bp1=0,389 ! Vo o2
n = D65 _10 ) 10 n = D65 _10 ) N 10
65 D65
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 T-10
chroma (A*4, B*;) chroma (A*,, B*,)
BE151-3A_1 BE151-4A 1
X,=95,04Y,,~100,00Z,~108,89 B, X=95,04,Y,=100,007,~108,89 B,
%y=0,3127y,,=0,3290 10 Xw=0,3127y,,=0,3290 210
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ayq [(x=0,171)y] 1 ay = agg [(x—0,171)1y] 1
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ap0= 1, byg=-0,4 a50= 1, byg= -0,4 A
Mp1=-0,974 by,=0,658 ) yo) 3 Mp;=-0,169 bpy=0,389 4
n=D65 -10 ' 10 n=D65 -10 a 10
e/DGS D65
Munsell System Y,,,=100 Munsell System Y, =100
C=2,V=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 +-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,=95,04Y,,~100,00Z,~108,89 B, X=95,04,Y,=100,00Z,~108,89 B,
%y=0,3127y,,=0,3290 110 Xy=0,3127y,,=0,3290 210
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (05— bs 1) Y15 (Y/Y1g) Bg = (b5 ~ D ) Y1 (Y/Y19)1/3
a5 = a [(x-0,172/y] + ag = ag [x/Y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4
Mp;=-0,974,bp,=0,658 L y.@)) D mMp;=-0,974,bp;=0,658 . V4 A:e
n = D65 -10 ' 10 n = D65 -10 ' 10
e/DGS \ 65
Munsell System Y{,,=100 Munsell System Y, =100
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 T-10

chroma (A*s, B*s)

chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




520 Munsell System Y,,,=100

MmC=2, V=1, 2,5,8&9, D50
igstohe chromaticity diagram (x, y)

X=96,42,Y,=100,00.Z,,=82,49
Xy=0,3457y,,=0,3585

Ao= (@0~ agy) Yig (Y1913
Bo = (bo = bo,n) Y1 (VY1913

g = a0 [X1Y]

by = bao [2/4]

ay =1, byp=-0,4

A
, ,
n = D50 -10 ' 10
0
' CIE 1931 X Munsell System Yy,=100
0 C=2,Vv=1,2,5,8&9, D50 -10
0,0 0,2 04 0,6 0,8 10 chroma (A*g, B*()
BE151-1A_1 BE151-2A 1
Xw=96,42,Y,,=100,00Z,8249 B, Xu=96.42Y,~100,002,~8249 B,
¥=0,3457y,,=0,3585 10 %,=0,3457y,=0,3585 20
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
A= 1, by = =0,4 ap0= 1, byp= -0,4 A
mr;=1,000,b5,=0,171 \ M Mp;=-0,169,b5,=0,389 \ \2
n = D50 -10 ' 10 n = D50 -10 ' @ 10
50 50
Munsell System Yy, =100 Munsell System Y,=100
C=2,Vv=1,2,5,8&9, D50 -10 C=2,Vv=1,2,5,8&9, D50 T-10
chroma (A*;, B*;) chroma (A*,, B*))
BE151-3A_1 BE151-4A 1
Xu=96,42,Y,,=100,00Z,8249 B, Xu=96,42Y,~100,002,~8249 B,
Xyy=0,3457y,,=0,3585 10 %y=0,3457y,,=0,3585 0
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
By = (b3 ~ by Yg (YY1 13 B4 = by~ by) Yig (/Y1913
ag =y [(x-0,171/y] a4 = a0 [(x-0,1791y] 4
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay =1, byp=-0,4
\ 3 Ay

Mp;=-0,974,bp;=0,658

mp;=-0,169,bp,=0,389
n = D50 -10

n = D50 -10 ﬁ ) 10
D50 D50

Munsell System Y\,=100 Munsell System Y, =100
C=2,Vv=1,2,5,8&9, D50 -10 C=2,Vv=1,2,5,8&9, D50 T-10
chroma (A*3, B*3) chroma (A*4, B*y)

BE151-5A_1 BE151-6A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,,~100,007,=82,49 B,
x=0,3457y,,=0,3585 10 X=0,3457y,,=0,3585 +10
As = (85~ 35,1) Yag (VY19 M3 A= (86~ 3,) Yag (VY1913
Bs = (b5~ bs 1) Yag (Y/Y19) M3 Bo = (b5 ~ D) Yag (Y/Ya9) 3
a5 = ay[(x-0,171/y] ag =y [X/Y] +
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
Mp1=—0,974,b;=0,658 , 5 Mp1=-0,974 b;=0,658 6
n = D50 _10 10 n = D50 10

Munsell System Y{,,=100

C=2,V=l,2,5,8&9, D50

chroma (A*s, B*s)

Munsell System Y, =100
C=2,Vv=1,2,58&9, D50
chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




520 Munsell System Y,,,=100
7 NM,.,C=2, V=1, 2,5,8&9, P40
migstohe chromaticity diagram (x, y)

X,~100,93)Y,,5100,007,~64,68 B,
Xw=0,3799y,,=0,3764 10
A= (@~ agy) Y1 (Y/Ym)ig

Bo = (bp — bg 1) Y18 (Y/Y1¢)

g = a0 [X1Y]
by = bao [2/4]
ay=1, byg=-0,4
20 20 A,
+ t t »
n = P40 -10 10
0
' CIE 1931 X Munsell System Yy,=100
T C=2,V=1,2,5,8&9, P40 -10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
BE151-1A_1 BE151-2A 1
X,=100,93,,~100,007,~64,68 B, X,=100,93,,~100,00Z,~64,68 B,
%y=0,3799y,,=0,3764 $10 Xy=0,3799y,,=0,3764 210
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ap0=1, byy=-0,4 A 850= 1, byg= -0,4 A
myp1=1,000,b3=0,171 ! D\ ! ot mp;=-0,169,bp1=0,389 ! ! o2
n = P40 -10 ' ' 10 n=P40 10 ' ;%,) ' 10
P40 40
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40 T-10
chroma (A*;, B*;) chroma (A*,, B*))
BE151-3A_1 BE151-4A 1
X,=100,93,,~100,007,~64,68 B, X,=100,93,,~100,00Z,~64,68 B,
Xy=0,3799y,,=0,3764 1.0 Xw=0,3799y,,=0,3764 20
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = ag [(x-0,172/y] +
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 A ay =1, byp=-0,4 A
Mp;=-0,974,bp,=0,658 . . N Mp;=-0,169,0p1=0,389 . . N
n = P40 10 ' ' 10 n=P40 10 ’ N 10
P40 P40
Munsell System Y,,,=100 Munsell System Y, =100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40 T-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,=100,93,,~100,007,~64,68 B, X,=100,93,,~100,00Z,~64,68 B,
%y=0,3799y,,=0,3764 110 Xy=0,3799y,,=0,3764 10
As= (@5~ as) Yig <Y/Y18>ig A6 = (@~ a6,) Y1 (Y/Ym)ija
Bs = (b5~ bs,p) Y15 (Y/Y1) B = (05 ~ 5,1 Y15 (Y/Y19)1/3
a5 = a [(x-0,172/y] + ag = ag [x/Y]
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
Mp;=-0,974,bp,=0,658 . . D mMp;=-0,974,bp;=0,658 . . N
n=P40 _10 ' ot ' 10 n=P40 _10 ' 10

Munsell System Y{,,=100
C=2,V=1,2,5,8&9, P40 T-10
chroma (A*s, B*s)

Munsell System Y, =100
C=2,V=1,2,5,8&9, P40
chroma (A*g, B*g)

}
40
-10

BE151-7A_1

BE151-8A 1




o1 20 55 Munsell System Y,,=100 X,=109,84Y,=99,997,~3558 B,
0,8 1/ MmC=2, V=1, 2, 5,8 & 9, A0D Xw=0,4475y,,=0,4074 +10
)51310 0 |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)l/a
N Bo = (b — b,n) Y (Y/Y19)1/3
g = a0 [X1Y] 1
by = bao [2/4]
ay =1, byp=-0,4
- Ro
n = A00 -10 ' 10
00
' CIE 1931 X Munsell System Yy,=100
T C=2,V=1,2,5,8&9, A00 T-10
0,0 0,2 0.4 0.6 0,8 1,0 chroma (A*g, B*o)
BE151-1A_1 BE151-2A 1
X,=109,84Y,~99,99.7,~3558 B, X,=109,84Y,=99,997,~3558 B,
Xy=0,4475y,,=0,4074 X0 X=0,4475y,,=0,4074 +10
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
a1 =ay[(x-0,1794] 4 2y = a0 [(x=0,17D/y] 4
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
my1=1,000,b5;=0,171 ) 4 Mp1=-0,169,bp1=0,389 ) 2
n = A00 -10 ' 10 n = A00 -10 ' § 10
A00 ‘A00
Munsell System Yy, =11 Munsell System Yy,=100
C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*4, B*;) chroma (A*,, B*,)
BE151-3A_1 BE151-4A 1
X,=109,84Y,~99,99.7,~3558 B, X,=109,84Y,=99,997,~3558 B,
Xy=0,4475y,,=0,4074 T X=0,4475y,,=0,4074 10
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
ag = ay[(x-0,17D/y] + ay = ay[(x-0,179/] +
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
a,0=1, byy=-0,4 ay =1, byp=-0,4 A
Mp1=-0,974 by,=0,658 ) 3 Mp;=-0,169 bpy=0,389 ) R
n = A00 -10 ' 10 n = A00 -10 ) 10
A00 A00
Munsell System Y,,,=100 Munsell System Y, =100
C=2,V=1,2,5,8&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,=109,84,~99,99.7,~3558 B, X,=109,84Y,,=99,99.7,~3558 B,
Xy=0,4475y,,=0,4074 T X=0,4475y,,=0,4074 X0
As = (85~ 35,1) Yag (VY19 M3 A= (86~ 3,) Yag (VY1913
Bs = (b5~ bs 1) Yag (Y/Y19) M3 Bo = (b5 ~ D) Yag (Y/Ya9) 3
a5 = ay[(x-0,171/y] + ag =y [X/Y] +
bs=byo [(Mp1x+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,658 n g mp;=-0,974,bp,=0,658 n 6
n = A00 -10 ' 10 n = A00 -10 ' 10
A00 00
Munsell System Y,,=100 Munsell System Yy, =100
C=2,V=1,2,5,8&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10

chroma (A*s, B*s)

chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




520 Munsell System Yy

=100

MmC=2, V=1, 2,5,8&9, EOO
igstohe chromaticity diagram (x, y)

X,=100,00,Y,,~100,00Z,,~100,00 B,,

Xy=0,3333y,,=0,3333 20

Ao= (@0~ agy) Yig (Y1913
Bo = (bo — bo ) Y18 (YrY,9 13

g = a0 [X1Y] 1
by = bao [2/4]
ay =1, byp=-0,4
: /o NN
n=E00 -10 10
Q625 0
570!
9%95¢,E 1
‘ CIE 1931 X Munsell System Yy =100
0 C=2,V=1,2,5,8&9, E00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
BE151-1A_1 BE151-2A 1
X,=100,00)Y,,=100,00Z,=100,00 B, X,=100,00Y,,=100,00Z,=100,00 B,
%w=0,3333y,,=0,3333 10 Xy=0,3333y,,=0,3333 Lo
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ap0=1, byg= 04 A ay0= 1, byo= ~0,4 A
mr1=1,000, 1 mp1=-0,169,bp;=0,389 2
n = E00 10 n = EO00 -10 10
E00
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 T-10
chroma (A*4, B*;) chroma (A*,, B*,)
BE151-3A_1 BE151-4A 1
X,=100,00)Y,,=100,00Z,=100,00 B, X,=100,00)Y,,=100,00Z,=100,00 B,,
%y=0,3333y,,=0,3333 1.0 Xy=0,3333y,,=0,3333 10

A= (@3~ ag) Yig (VY193
B3 = (b3~ bs ) Y15 (/Y1913
ag = ayq [(x=0,171)y] 4
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

mp;=-0,974,b5,=0,658 As
n=E00 -10 10
E00

Munsell System Y,,,=100

Ag= (g ~3y) Yag (VY1913
By =(bs—bsp) Yig (vrv;9 13
ay = ag [(x-0,172/y] 4
=50 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4

mp;=-0,169,bp;=0,389
n = E00 -10 10

Munsell System Y, =100

Ay

E00

C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 T-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,,=100,00Y,,100,00Z,,100,00 B X,=100,00,Y,,100,00Z,,=100,00 B,
Xy=0,3333y,,=0,3333 210 X=0,3333y,,=0,3333 10
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 ~ bs,1) Y1g (Y/Yi1g) B = (B ~ o) Yag (VY1913
a5 = ay [(x-0,17)/y] 1 a = 2y [xly] il
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
Mp;=-0,974,bn,=0,658 ) 5 Mp;=-0,974,b;=0,658 6
n = E00 -10 10 n=E00 -10 10
EO00 00
Munsell System Y,,=100 Munsell System Yy, =100
C=2,V=1,2,5,8&9, E00 T-10 C=2,V=1,2,5,8&9, E00 T-10

chroma (A*s, B*s)

chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




520 Munsell System Y, =100
7 NM...C=2, V=1, 2,5,8 &9, CO0
migstohe chromaticity diagram (x, y)

CIE 1931 X

0,0 0,2 0,4 0,6 0,8 1,0

X=98,07,Y,,=100,00Z,~118,22 B

X=0,3100y,,~0,3161 0 10
Ao= (80~ 3o, Yag (VY193

Bo = (b — b,n) Y (Y/Y19)1/3

g = a0 [X1Y]

by = bao [2/4]

ay =1, byp=-0,4 Ao

_ + t t »

n=Co00 -10 TZ g} 10
00
Munsell System Yy,=100
C=2,Vv=1,2,5,8&9, C00 -10
chroma (A*g, B*g)

BE151-1A_1 BE151-2A 1
X,=98,07,Y,,~100,00Z,~118,22 B, X=98,07 Y,=100,00Z,~118,22 B,
¥w=0,3100y,,=0,3161 210 Xy=0,3100y,,=0,3161 210

A= (@1 - ay ) Yig (VY193
B1=(1-byp) Yig (YIY;9 13
ay = ayo [(x-0,17D/y] 4

by =byo [ZA

80=1, byp=-04 /% A

myp1=1,000,b3=0,171 } ' o

n=C00 -10 ' ' 10
Coo

Munsell System Y,,,=100

A= (@2~ ag) Yig (VY1913
By = (b - by Yig (YY1 13
ay = a0 [(x—0,17D/y] 4
=bs0 [(Mpx+bp1)/Y]

ay0=1, byy=-0,4 A

Mp;=-0,169,bp;=0,389 @% 2

n=Co00 -10 10
C00

Munsell System Yy,=100

C=2,Vv=1,2,5,8&9, C00 T-10 C=2,Vv=1,2,5,8&9, C00 T-10
chroma (A*4, B*;) chroma (A*,, B*,)

BE151-3A_1 BE151-4A 1
X4=98,07,Y,=100,00Z,118,22 B, X,~98,07,Y,~100,002,~118,22 B,
X=0,3100y,,=0,3161 T10 X=0,3100y,,=0,3161 110

A= (@3~ ag) Yig (VY193
B3 = (b3~ bs ) Y15 (/Y1913
ag = ayq [(x=0,171)y] 41
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
mp;=-0,974,bp,=0,658
n=C00 _10

Munsell System Y,,,=100

Ag= (g ~3y) Yag (VY1913
By =(bs—bsp) Yig (vrv;9 13
ay = ag [(x-0,172/y] 4L
=50 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4

mp1=-0,169 bp;=0,389 , @ , As
n=C00 -10 ' ' 10

Munsell System Y, =100

C=2,V=1,2,5,8&9, C00 T-10 C=2,V=1, 2,5, 8 &9, C00 T-10
chroma (A*3, B*3) chroma (A*4, B*y)

BEL51-5A_1 BEL51-6A 1
X,=98,07.Y,,=100,002,~118,22 B, X,=98,07,Y,,=100,002,~118,22 B,
Xy=0,3100y,,=0,3161 +10 %,=0,3100y,,=0,3161 10

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3
a5 = a [(x-0,171)/y] 1
bs=byq [(Mp1x+bp1)/y]
ay=1, byp=-0,4
mp;=-0,974,bp,=0,658
n=C00 _10

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, C00 T-10
chroma (A*s, B*s)

A6 = (@ ~ ag) Yig (Y1913
Bg = (b — bg,) Y (Y/Y19)1/3
ag = ago [X/y]

bs=byq [(Mp1X+bp1)/y]
ay=1, byp=-0,4
mp;=-0,974,bp,=0,658
n=C00 -10

As
10

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, C00
chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




515 20 05 Munsell System Y,y=100 X,=102,06Y,,=100,00Z,~81,06 B,
087 L, C=2,V=1,2,5,8 49, P00 Xu=0,3604,20,3531 .
)51310 0 |25t0he chromaticity diagram (x, y) Ag=(@g-29,) Yig (y/ym)l/a
: Bo = (bo = bo,n) Y1 (VY1913
g = a0 [X1Y]
by = bao [2/4]
ay =1, byp=-0,4
. Ao
n = P00 _1'0 ! 1r0
00
' CIE 1931 X Munsell System Yy,=100
T C=2,V=1,2,5,8&9, P00 -10
00 2 04 06 08 10 chroma (A*g, B*g)
BE151-1A_1 BE151-2A 1
Xw=102,06,Y,,=100,00Z,=81,06 B, X,=102,06¥,,=100,00Z,~81.06 B,
¥=0,3604y,,=0,3531 20 %=0,3604y,,=0,3531 20
A= (@1 - ay ) Yig (VY193 A= (@2~ ag) Yig (VY1913
B1= by~ by Y1 (/Y1913 B2 = (b2~ by,0) Y1g (VY1913
ay = ago [(x-0,172/y] 4L 2 = a0 [(x-0,172/y] 4L
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mr;=1,000,b5,=0,171 \ A M Mp;=-0,169,b5,=0,389 2
n = P00 -10 ' ' 10 n = P00 -10 @§ 10
[=00] 00
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,V=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 T-10
chroma (A*4, B*;) chroma (A*,, B*,)
BE151-3A_1 BE151-4A 1
Xw=102,06,Y,,=100,00Z,=81,06 B, X,=102,06¥,,=100,00Z,~81,06 B,
¥=0,3604y,,=0,3531 t0 %=0,3604y,,=0,3531 10
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (b3~ bs,) Y1 (/Y1913 By = (b4~ by,0) Y1 (/Y1913
ag = ay[(x-0,17D/y] + ay = ay[(x-0,179/] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1, by=-0,4 A 80=1, by=-0,4 A
Mp1=-0,974 by,=0,658 , P \ 3 mp;=—0,169,bp,=0,389 4
n = P00 -10 ' ' 10 n = P00 -10 z ﬁ? 10
P00 =00]

Munsell System Y,,,=100

Munsell System Y, =100

C=2,V=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 T-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,=102,06,Y,,~100,007,=81,06 B, X=102,06Y,,=100,007,~81,06 B,
X,=0,3604y,,=0,3531 +10 X=0,3604y,,~0,3531 10
As = (85~ 35,1) Yag (VY19 M3 A= (86~ 3,) Yag (VY1913
Bs = (b5~ bs 1) Yag (Y/Y19) M3 Bo = (s ~ Do) Y1s (YY1 /3
a5 = ay[(x-0,171/y] + ag =y [X/Y]
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,658 n A n g mp;=-0,974,bp,=0,658 n 6
n = P00 ~10 ) ) 10 n = P00 _10 ) 10
[=00] 00
Munsell System Y,,=100 Munsell System Yy, =100
C=2,V=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 -10

chroma (A*s, B*s)

chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




520 Munsell System Y,,,=100
7 oNM,..C=2, V=1, 2, 5,8 & 9, Q00
migstohe chromaticity diagram (x, y)

CIE 1931

X

X=97,93,Y,,=100,00Z,~118,95 B

X=0,3090y,,~0,3155 0
Ao= (@~ a0, Yag (Y19 /3

Bo = (b — b,n) Y (Y/Y19)1/3

g = agg [X/y]

b = byo [z

ay =1, byp=-0,4

Ao

-10

Munsell System Yy,=100

10
n=Q00 | !

o

-10

t >
10
0

0,0 T C=2,V=1,2,5,8&9, Q00
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
BE151-1A_1 BE151-2A 1
X,=97,93Y,=100,007,711895 B, X,=97,98,Y,,7100,007,7118,95 B,
X=0,3090y,,~0,3155 110 Xw=0,3090y,,=0,3155 110

A= (@1 - ay ) Yig (VY193
B1=(1-byp) Yig (VY1913
ay = ayo [(x-0,17D/y] 4
by =byo [ZA

ay=1, byp=-0,4
mr1=1,000,

A= (@2~ ag) Yig (VY1913
By = (b - by Yig (YY1 13
ay = a0 [(x—0,17D/y] 4
=bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4

Mp;=-0,169.bp;=0,389 @@ A
n=Qo00 -10 10

n=Qo0 10
Q00 Q00
Munsell System Y,,,=100 Munsell System Yy,=100
C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1,2,5,8&9, Q00 T-10
chroma (A*4, B*;) chroma (A*,, B*,)
BE151-3A_1 BE151-4A 1
X,=97,93,Y,,~100,002,~118,95 B, X=97,93,Y,,~100,007,~118,95 B,
Xy=0,3090y,,=0,3155 T Xw=0,3090y,,=0,3155 X0
A= (@3~ ag) Yig (VY193 A4= (@4 = ag) Yig (VY1913
B3 = (05~ by, Yis (/Y1913 B4 = by~ by) Yig (/Y1913
a3 = a0 [(x-0,172/y] + ay = ag [(x-0,172/y] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay0= 1, byo= -0,4 ay0=1, byg=-0,4 A
mMp;=-0,974,bp;=0,658 L L N Mp;=-0,169,0p1=0,389 L @ L N
t t t 5 i t t b
n=Qo0 -10 10 n=Q00 -10 10
Q00 Q00
Munsell System Y,,,=100 Munsell System Y, =100
C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1,2,5,8&9, Q00 T-10
chroma (A*3, B*3) chroma (A*4, B*y)
BE151-5A_1 BE151-6A_1
X,=97,93,Y,,~100,002,~118,95 B, X=97,93,Y,,100,007,=118,95 B,
Xy=0,3090y,,=0,3155 T X=0,3090y,,=0,3155 10
A5 = (85~ 35,1 V1o (VY1919 Ag = (B ~36,) Y1s (VY1913
Bs = (b5 ~ bs,1) Y1g (Y/Yi1g) Bg = (b~ bg ) Yag (Y/Y29 3
a5 = a [(x-0,172/y] + ag = ag [x/Y]
bs=byo [(Mp1x+bp1)/y] bg=bs0 [(Mp1x+bp1)/y]
ay=1, byp=-0,4 ay=1, byp=-0,4 A
Mp1=—0,974,b;=0,658 , , 5 Mp1=-0,974 b;=0,658 6
n= Q00 -10 ' ' 10 n = Qo0 -10 10
Q00

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, Q00 T-10
chroma (A*s, B*s)

Munsell System Y, =100
C=2,V=1,2,5,8&9, Q00
chroma (A*g, B*g)

BE151-7A_1

BE151-8A 1




